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1. ;fn 2 0x px q    ds ewy okLrfod vkSj
1 ls cM+s gSaA ;fn 1r p q    rks D;k lR; gS %

(a) r “kwU; ls cM+k gksuk pkfg,
(b) r “kwU; ls NksVk gksuk pkfg,
(c) r “kwU; ds cjkcj gksxk
(d) dksbZ ugha

2. lehdj.k 2 2 0lx mx n    rFkk  2 2 0lx nx m  
tgk¡ m n  ds mHk;fu’B ewy gksxk%

(a) 0 (b) 1/2
(c) 1 (d) Kkr ugha fd;k tk ldrk

3. ;fn r1, r2 lehdj.k  2 1 0x px p     ds ewy
gS] rks p ds fdl eku ds fy,  2 2

1 2r r  U;wure
gksxk %
(a) p = 0 (b) p = – 1
(c) p = 1 (d) p = 2

4. ;fn 2 3 4 0x x     rks fuEu esa D;k lR;
gS\
(a)  1, 4x 
(b)  1, 4x  
(c)    , 1 4,x    
(d)    , 1 4,x   

5. oØ 2 1 1 cos
2 4r

   izLrqr djrk gS %

(a) ijoy; (b) vfrijoy;
(c) nh?kZo`Ÿk (d) ljy js[kk

1. The roots of the equation 2 0x px q    are
both real and greater then 1. If 1r p q    then
what is correct :
(a) r must be greater than 0
(b) r must be less than 0
(c) r must be equal to 0
(d) None

2. What is the common root in the equation
2 2 0lx mx n    & 2 2 0lx nx m    where

m n

(a) 0 (b) 1/2
(c) 1 (d) can’t determine

3. If r1, r2 are the roots of equation
 2 1 0x px p     for what value of p is the

value of  2 2
1 2r r  minimum.

(a) p = 0 (b) p = – 1
(c) p = 1 (d) p = 2

4. If 2 3 4 0x x     then which of the following
is correct?
(a)  1, 4x 
(b)  1, 4x  
(c)    , 1 4,x    
(d)    , 1 4,x   

5. The curve 2 1 1 cos
2 4r

   represent a/an :

(a) Parabola (b) Hyperbola
(c) Ellipse (d) Straight line

PART - I
MATHS
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6. cos sinx y a    rFkk sin cosx y a  
ds e/; dks.k gksxk %

(a)   (b)    

(c) 2
    (d) 2

   

7. ;fn a1, b1, c1, f1, g1 vkSj h1 okLrfod la[;k,a gksa]
tgk¡ 2 2

1 1 1 1g f c a   rks lehdj.k 2
1 12a x h xy

2
1 1 1 12 2 0b y g x f y c      ,d oŸ̀k gksxk] ;fn

vkSj dsoy ;fn %

(a) 1 1a b
(b) 2 1 1, 0a b h 

(c) 1 2 11, 0, 0a a h  
(d) 1 1 1 1, 0, 0a b a h  

8. ;fn n ,d izk—frd la[;k bl izdkj gS] fd n > 4
rFkk sin cosn n

nu x x   rks fuEu esa D;k lR;
gS\
(a) 2 2

2 4 sin cosn n nu u u x x  
(b) 2 2

2 3 sin cosn n nu u u x x  
(c) 2 2

4 4 sin cosn n nu u u x x  

(d) 2 42 sin cosn n nu u u x x   

9. ;fn sin A p  rFkk sin B q  tgk¡ p  rFkk q
nksuksa 1 ls NksVs gSa] rks sin (A + B) ds dqy gy
fdrus gksaxs\
(a) 1 (b) 2
(c) 3 (d) 4

10. sin 4 tan 2x x  dk vkorZukad D;k gksxk\

(a) 2 (b) 

(c) 2
 (d)

3
2


6. The angle between cos sinx y a    and
sin cosx y a    is :

(a)   (b)    

(c) 2
    (d) 2

   

7. If a1, b1, c1, f1, g1 and h1 are real numbers such
that 2 2

1 1 1 1g f c a   then equation 2
1 12a x h xy

2
1 1 1 12 2 0b y g x f y c      represent a circle

iff :

(a) 1 1a b
(b) 2 1 1, 0a b h 

(c) 1 2 11, 0, 0a a h  

(d) 1 1 1 1, 0, 0a b a h  

8. Let n be a natural number such that n > 4 and
sin cosn n

nu x x   which one of the following
is correct?
(a) 2 2

2 4 sin cosn n nu u u x x  

(b) 2 2
2 3 sin cosn n nu u u x x  

(c) 2 2
4 4 sin cosn n nu u u x x  

(d) 2 42 sin cosn n nu u u x x   

9. If sin A p  & sin B q  where p  and q  are
both less than 1, then what are the total number
of possible (and distinct) value of  sin ?A B
(a) 1 (b) 2
(c) 3 (d) 4

10. What is period of function sin 4 tan 2x x ?

(a) 2 (b) 

(c) 2
 (d)

3
2

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11. 2 0 2 0sin 24 sin 6  dk eku D;k gksxk\

(a)
5 1
4


(b)
5 1
8


(c)
5 1
8


(d)
5 1
4


12. nks dks.kksa dk varj 10 gS] muds oŸ̀kh; eki dk
;ksx 1 gS] rk s lcls NksV s dk s.k dk eku
gksxk %

(a)
0180 1


 

 
 

(b) 01
180
   

(c) 0

1 1
2 180

   
(d) 0

1 1
2 180

   

13. ;fn cos (+) sin ( +) = cos (–) sin (–)
rks cot cos cos    dk eku gksxk %

(a) tan 2 (b) cot 2
(c) tan  (d) cot 

14. ;fn oŸ̀k dk lehdj.k tks fd ewy fcUnq ls xqtjrk
gks] 2 2 6 2 0x y x y     gS rks blds O;kl dk
lehdj.k gksxk %
(a) 3 0x y  (b) 0x y 
(c) x y (d) 3 0x y 

15. ekuk 1 2 3, ,z z z  fdlh leckgq f=Hkqt ds “kh’kZ gS] tks
fd fdlh oŸ̀k ds vUnj fLFkr gS] tgk¡ 2z  . ;fn

1 1 3z i   rks] fuEu esa D;k lR; gS %
(a) 2 32, 1 3z z i   

(b) 2 32, 1 3z z i  
(c) 2 32, 1 3z z i   
(d) 2 32, 1 3z z i  

11. What is the value of 2 0 2 0sin 24 sin 6 ?

(a)
5 1
4


(b)
5 1
8


(c)
5 1
8


(d)
5 1
4


12. The difference of two angles is 10, the circular
measure of their sum is 1. What is the smaller
angle in circular measure.

(a)
0180 1


 

 
 

(b) 01
180
   

(c) 0

1 1
2 180

   
(d) 0

1 1
2 180

   

13. If cos (+) sin ( +) = cos (–) sin (–)
then value of cot cos cos    is :
(a) tan 2 (b) cot 2
(c) tan  (d) cot 

14. Equation of a circle passing through origin is
2 2 6 2 0x y x y    . What is the equation of

one of its diameter?
(a) 3 0x y  (b) 0x y 
(c) x y (d) 3 0x y 

15. Suppose 1 2 3, ,z z z  are vertices of equilateral
triangle inscribed in the circle 2z  . If

1 1 3z i   then what is true in following :
(a) 2 32, 1 3z z i   
(b) 2 32, 1 3z z i  

(c) 2 32, 1 3z z i   
(d) 2 32, 1 3z z i  
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16. If  is cube root of unity and 21 0n n   
then value of n is :
(a) 3 (b) 5
(c) 6 (d) 9

17. If 1 2 2
2 1 2

i iz
i i

 
 

 
 then value of 2z z z

is :
(a) 0 (b) –1
(c) 1 (d) 8

18. If 1, , 2 are the cube root of unity for what

value of m is the matrix 
1

1
1

m
m

m






 
 
 
  

 is singular :

(a) 0 (b) 1
(c)  (d) 2

19. If    2 6 0x x    then solution set is :

(a)  : 2x x 
(b)  : 6x x 
(c)  : 6x x  
(d)  : 2 6x x or x 

20. Which point given below is not a Part of solution
of inequation 3 4 12;x y   0, 0x y 

(a) (4, 2) (b) (1, 3)

(c) (2, 1) (d)
2 11,
3 4

 
 
 

16. ;fn ,d bdkbZ ?kuewy gks rFkk 21 0n n   
rks n dk eku gksxk %

(a) 3 (b) 5
(c) 6 (d) 9

17. ;fn 
1 2 2
2 1 2

i iz
i i

 
 

 
 gks rks 2z z z  dk eku

gksxk %

(a) 0 (b) –1
(c) 1 (d) 8

18. ;fn 1, , 2  bdkbZ ?kuewy gks] rks m ds fdl eku

ds fy, vkO;wg 
1

1
1

m
m

m






 
 
 
  

 ,dy gksxk %

(a) 0 (b) 1
(c)  (d) 2

19. ;fn    2 6 0x x    rks gy leqPp; gksxk %

(a)  : 2x x 
(b)  : 6x x 
(c)  : 6x x  
(d)  : 2 6x x or x 

20. dkSu lk fcUnq 3 4 12;x y   dk gy ugha gS tgk¡

0, 0x y 

(a) (4, 2) (b) (1, 3)

(c) (2, 1) (d)
2 11,
3 4

 
 
 
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21. ;fn , ,x y za b b c c a    rks  
1

xy yz zx 
1 1 1
x y z

 
  

 
 dk eku gksxk %

(a) 0 (b) abc
(c) 1 (d) –1

22. ;fn tan tan 0,p q    rks  dk eku dkSu lh
Js.kh cuk;sxk %
(a) lekUrj Js.kh (b) xq.kksŸkj Js.kh
(c) gjkRed Js.kh (d) dksbZ ugha

23.
1 3 7 15 .....
2 4 8 16

     
 

 ds izFke n inksa rd ;ksx

gksxk %

(a) 2 1n n  (b) 1 2 n

(c) 2 1nn   (d) 2 1n 

24. ;fn  a, b, c lekarj Js.kh esa gS ]
fuEufyf[kr dFku ij /;ku nsa%

1.
1 1 1, ,
ab bc ca  lekarj Js.kh esa gSA

2.
1 1 1, ,

b c c a a b    lekarj Js.kh

esa gSA

rks dkSu lk@ls dFku lR; gSa %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1] u gh 2

21. If , ,x y za b b c c a    then value of

 
1 1 1 1

xy yz zx x y z
 

     

(a) 0 (b) abc
(c) 1 (d) –1

22. If tan tan 0,p q    then value of  form a
series :
(a) A.P. (b) G.P.
(c) H.P. (d) None

23. The sum of first n terms of series

1 3 7 15 .....
2 4 8 16

     
 

(a) 2 1n n  (b) 1 2 n

(c) 2 1nn   (d) 2 1n 

24. Let a, b, c be an A.P.
Consider the following statesment :

1.
1 1 1, ,
ab bc ca  are in A.P..

2.
1 1 1, ,

b c c a a b    are in

A.P.

Which one of the following is correct :
(a) 1 Only (b) 2 Only
(c) Both 1 and 2 (d) Neither 1 nor 2
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25. ;fn lehdj. k    2 2 2 2a b x b a c x  

 2 2 0b c    ds leku ewy gks] rks fuEu esa

a, b ,oa c ds ckjs esa D;k lR; gS\

(a) os lekUrj Js.kh esa gksaxs

(b) os xq.kksŸkj Js.kh esa gksaxs
(c) os gjkRed Js.kh esa gksaxs
(d) os fdlh Js.kh esa ugha gksaxs

25. The equation    2 2 2 2a b x b a c x  

 2 2 0b c    has equal roots. Which one of
the following is correct about a, b & c?
(a) They are in A.P.
(b) They are in G.P.
(c) They are in H.P.
(d) They are neither in any series

SCIENCE

26.            

2 kg 12 N

3 kg

In given figure floor is smooth. A force of 12 N
can be applied on upper block without slipping.
What maximum force can be applied on lower
block so that the upper block move together :
(a) 12 N (b)  16 N
(c) 20 N (d)  30 N

27. Velocity of sound in the atmosphere of a planet
is 500 ms–1. The minimum distance between the
source of sound and obstacle between the source
of sound and obstacle to hear the echo will be :
(a) 17 m (b) 20 m
(c) 25 m (d) 50 m

28. A wave of frequency 400 Hz has a velocity of
320 ms–1. The distance between the particles
differing is phase by 90o is :
(a) 20 cm (b) 40 cm
(c) 60 cm (d) 80 cm

26.           

2 kg 12 N

3 kg

fn;s x;s fp= esa lrg fpduh gSA Åij okys xqVds
ij fcuk ljds gq, 12 U;wVu dk cy yxk;k tkrk
gSA fupys xqVds ij vf/kdre fdruk cy yxk;k
tk ldrk gS fd Åijh xqVdk lkFk&lkFk xfr djs\
(a) 12 N  (b)  16 N
(c) 20 N (d)  30 N

27. fdlh xzg ds ok;qe.My esa /ofu dk osx 500
eh-@ls- gSA /ofu lzksr rFkk vojks/k ds chp fuEure
nwjh fdruh gksuh pkfg, fd izfr /ofu lqukbZ ns\
(a) 17 m (b) 20 m
(c) 25 m (d) 50 m

28. gVZ~t vkof̀Rr okyh fdlh rjax dk osx 320 eh-@ls-
gSA 900 dkykUrj okys nks d.kksa ds chp dh nwjh
gksxh&
(a) 20 cm (b) 40 cm
(c) 60 cm (d) 80 cm
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29. M1 = 10 kg, M2 = 5 kg, g = 10 ms–2, all surfaces
are frictionless what will be acceleration of mass
M2 :

M1

300

M2

(a) 10 ms–2 (b) 5 ms–2

(c)
2
3  ms–2 (d) zero

30. Dimension of impulse are same as that of :

(a) force (b) momentum

(c) energy (d) acceleration

31. A circular disc rolls down an inclined plane the
fraction of its total energy associated with its
rotational motion is

(a)
1
4 (b)

1
3

(c)
1
2 (d) 1

32. What is the maximum speed at which a car can
turn round a curve of 30m radius on a level road
if the coefficient of friction between the tyre and
the road is 0.4 and g = 10 ms–2

(a) 5 ms–1 (b) 11 ms–1

(c) 17 ms–1 (d) 2 ms–1

29. ;fn M1 = 10 kg, M2 = 5 kg rFkk g = 10 ms–2

rFkk lHkh lrg ?k’kZ.k jfgr gS] rks M2 dk Roj.k
gksxk %

M1

300

M2

(a) 10 ms–2 (b) 5 ms–2

(c)
2
3  ms–2 (d) “kwU;

30. vkosx dh foek buesa ls fdlds cjkcj gS %

(a) cy (b) laosx

(c) ÅtkZ (d) Roj.k

31. ,d xksyh; fMLd ,d ur lery ij yq<+d jgh gS]
bldh dqy xfrt ÅtkZ dk fdruk Hkkx ?kw.kZu xfr
ls lEcfU/kr gSA

(a)
1
4 (b)

1
3

(c)
1
2 (d) 1

32. fdlh dkj dk lM+d ds eksM+ ij egŸke osx gks

ldr k g S  %  ¼ r̂  = 30 m,  = 0.4 rF k k
g = 10 ms–2½

(a) 5 ms–1 (b) 11 ms–1

(c) 17 ms–1 (d) 2 ms–1
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33. Moment of inertia of a given square about an
axis through ‘O’ and perpendicular to plane of
square is I, moment of inertial along diagonal
AC is :

D C

BA

O

(a) I (b) 2 I

(c) 2
I

(d) None of these

34. An inclined plane makes an angle 300 with
horizontal A solid sphere rolling down this
inclined plane has a linear acceleration of :

(a)
5

14  g (b)
2
3  g

(c) 3
g

(d)
5
7  g

35. A body attached to a spring  balance weighs 10
kg on the Earth. The body attached to the same
spring balance is taken to a planet where gravity
is half that of the Earth. The balance will read :
(a) 20 kg (b) 10 kg
(c) 5 kg (d) 2.5 kg

36. The ionic radii of N–3, O–2 F–2 and Na+ follows
the order
(a) 3 2 1N O F Na     
(b) 3 2 1N Na O F     
(c) 2 3 1Na O N F     
(d) 2 1O F Na F     

33. fn;s x;s oxZ dk mlds dsUnz O ls tkus okys ,oa
mlds ry ij yEcor v{k ds ifjr% tM+Ro vk?kw.kZ
I] blds fdlh ,d fod.kZ ds lkis{k tM+Ro vk?kw.kZ
D;k gksxk %

D C

BA

O

(a) I (b) 2 I

(c) 2
I

(d) buesa ls dksbZ ugha

34. ,d ur lery {kSfrt ls 300 dk dks.k cukrk gSA
,d Bksl xksyk ml ij yq<+d jgk gSA mldk js[kh;
Roj.k gksxk%

(a)
5

14  g (b)
2
3  g

(c) 3
g

(d)
5
7  g

35. ,d fLizax rqyk }kjk ,d fi.M dk Hkkj iF̀oh lrg ij
10 fdyksxzke ekik tkrk gS fi.M dks mlh fLizax rqyk
}kjk tksM+dj fdlh xzg ij ys tk;k tkrk gS tgk¡ xq#Ro
dk eku iF̀oh dh vis{kk vk/kk gS rks rqyk dh eki gS&
(a) 20 fdxzk- (b) 10 fdxzk-
(c) 5 fdxzk- (d) 2-5 fdxzk-

36. N–3, O–2 F–2  vkSj Na+ blesa dkSu vk;fud f=T;k
dk Øe lgh gS %

(a) 3 2 1N O F Na     
(b) 3 2 1N Na O F     
(c) 2 3 1Na O N F     
(d) 2 1O F Na F     



SPACE FOR ROUGH WORK

MAJOR KALSHI CLASSES PVT. LTD. 10

SAMPLE TEST PAPER Class - 11

37. Of the following, the one with largest size is:
(a) Cl– (b) Ar
(c) K+ (d) Ca+2

38. An element M form MCl3. In that 20% of metal
is present, Atomic weight of metal is :
(a) 26.5 (b) 13
(c) 4.0 (d) 20.0

39. Which of the following reactions indicates the
oxidising behaviour of H2SO4

(a) 5 2 4 32 2PCl H SO POCl 
2 22HCl SO Cl 

(b) 2 4 2 42NaOH H SO Na SO 
 22H O

(c) 2 4 4NaCl H SO NaHSO HCl  
(d) 2 4 2 2 22 2HI H SO I SO H O   

40. The electronic configuration of metal M
is 2 2 6 11 2 2 3s s p s  The formula of its oxide is :
(a) MO (b) M2O
(c) M2O3 (d) MO2

41. Name the metal which liberates H2 gas when
reacts with acid and NaOH both
(a) Fe (b) Zn
(c) Cu (d) None

42. Which of the following is not used as water
softener for permanent hardness :
(a) NaOH
(b) Ca (OH)2

(c) Na2CO3

(d) Sodium hexametaphosphate

37. buesa ls fdldk vkdkj lcls cM+k gS %
(a) Cl– (b) Ar
(c) K+ (d) Ca+2

38. ,d rRo M ftlds DyksjkbM dk lw= MCl3 gS blesa
20% /kkrq mifLFkr gks] rks /kkrq dk ijek.kq Hkkj gS %
(a) 26.5 (b) 13
(c) 4.0 (d) 20.0

39. blesa ls dkSu lh vfHkfØ;k H2SO4  ds vkDlhdkjd
xq.k dks iznf”kZr djrk gS %
(a) 5 2 4 32 2PCl H SO POCl 

2 22HCl SO Cl 
(b) 2 4 2 42NaOH H SO Na SO 

22H O
(c) 2 4 4NaCl H SO NaHSO HCl  
(d) 2 4 2 2 22 2HI H SO I SO H O   

40. ,d /kkrq M ftldk bysDVªkfud lajpuk 2 21 2s s
6 12 3p s  bl /kkrq ds vkWDlkbM dk lw= gksxk%

(a) MO (b) M2O
(c) M2O3 (d) MO2

41. ml /kkrq ds uke crkb;s tks vEy vkSj {kkj nksuksa ls
vfHkfØ;k djds gkbMªkstu xSl fudkyrk gS %
(a) Fe (b) Zn
(c) Cu (d) dksbZ ugha

42. buesa dkSu lk inkFkZ ikuh dh LFkk;h dBksjrk dks
nwj djus esa iz;ksx ugha fd;k tkrk gS %
(a) NaOH
(b) Ca (OH)2

(c) Na2CO3

(d) lksfM;e gsDlkesVkQkLQsV
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43. Corret order of increasing acid strength is :
(a) HClO < HClO2 < HClO3 < HClO4

(b) HOCl > HClO2 > HClO4 < HClO3

(c) HOCl > HClO2 > HClO3 > HClO4

(d) HClO2 < HClO3 < HClO4 < HClO

44. Which of the following is used as purgative

(a) HgCl2 (b) HgS
(c) Hg2Cl2 (d) ZnSO4

45. An element which is highly toxic for plants and
animals is :

(a) Au (b) Mn
(c) Ca (d) Hg

46. Which of the following is a polysacchoride :
(a) Glucose (b) Glycogen

(c) Maltose (d) Lactose

47. Cholesterol is a :

(a) diglyceride
(b) saturated fatty acids

(c) unsaturated fatty acids
(d) steroid

48. They are non-vascular plants :
(a) Horse tails
(b) Conifers
(c) Club Mosses
(d) Liverworts

43. vEy ds rhozrk dk lgh Øe gS %

(a) HClO < HClO2 < HClO3 < HClO4

(b) HOCl > HClO2 > HClO4 < HClO3

(c) HOCl > HClO2 > HClO3 > HClO4

(d) HClO2 < HClO3 < HClO4 < HClO

44. blesa dkSu lk inkFkZ nLrkokj gksrk gS %

(a) HgCl2 (b) HgS
(c) Hg2Cl2 (d) ZnSO4

45. blesa dkSu lk rRo ikS/ks vkSj tUrq ds fy, eq[;r%
tgjhyk gksrk gS %

(a) Au (b) Mn
(c) Ca (d) Hg

46. buesa ls dkSu ,d ikyhlSdkjkbZM gS %

(a) Xywdkst (b) Xykbdkstu

(c) ekYVkst (d) ySDVkst

47. dksysLVªky gS %
(a) ,d MkbyhljkbM

(b) larÌr olk vEy

(c) vlarÌr olk vEy
(d) LVhjk;M

48. buesa ls dkSu xSj laoguh ikS/kk gS %

(a) Horse tails

(b) Conifers
(c) Club Mosses

(d) Liverworts
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49. Vertebrates are :

(a) Bilaterally Symmetrical

(b) Radially Symmetrical

(c) Vertically Symmetrical

(d) Asymmetrical

50. Jelly fish belongs to :

(a) Bony fishes

(b) Cartilaginous fishes

(c) Jawless fishes

(d) None of these

49. jh<+ okys tho gksrs gSa %

(a) f}ikf”oZd lefer

(b) f=T;kRed lefer

(c) Å/okZ/kj lefer

(d) vlefer

50. ^tsyh fQ”k* buesa ls fdl Js.kh ls lac) gS %

(a) daVhyh eNyh

(b) vikfLFke; eNyh

(c) tcM+k jfgr eNyh

(d) buesa ls dksbZ ugha
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51. Which is not correctly matched :
(a) Tilled land—Kalibanga
(b) Port—Lothal
(c) Dual Burial—Lothal
(d) Agnivedika—Harappa

52. Gayatri Mantra finds mention in :
(a) Rigveda (b) Atharvaveda
(c) Upanishad (d) Puran

53. The epic written by Megasthenes was :
(a) Prothobosa (b) Indica
(c) The world (d) Bhasya

54. Who established the Nalanda University :
(a) Ashoka (b) Kumargupt
(c) Harshvardhan (d) Samudragupt

55. Who wrote the historical book Kitabul-Hind
(Tehkik-e-Hind) or Mirror of India?
(a) Mahmud Gajnavi
(b) Al-Beruni
(c) Minhaj Siraj
(d) Amir Khusro

56. Where is the Tomb of Jahangeer?
(a) Agra (b) Delhi
(c) Lahore (d) Kashmir

PART - II
GENERAL AWARENESS

51. dkSu lqesfyr ugha gS %

(a) tqrs gq, [ksr&dkyhcaxk

(b) cUnjxkg&yksFky

(c) ;qxy “kok/kku&yksFky

(d) vfXuosfndk&gM+Iik

52. xk;=h ea= dk mYYks[k dgk¡ gS %

(a) _Xosn (b) vFkosZn

(c) mifu’kn (d) iqjk.kksa

53. esxLFkuht }kjk jfpr xzUFk gS %

(a) izksFkksckslk (b) bfUMdk

(c) n oYMZ (d) Hkk’;

54. ukyUnk fo”ofo|ky; dh LFkkiuk fdlus dh Fkh %

(a) v”kksd (b) dqekj xqqIr

(c) g’kZo/kZu (d) leqnzxqIr

55. fdrkc&my&fgUn ¼rgdhd&,&fgUn½ ;k Hkkjr dk
niZ.k fdlus fy[kk Fkk %

(a) egewn xtuoh

(b) vyc:uh

(c) feugkt fljkt

(d) vehj [kqljks

56. tgk¡xhj dk edcjk fLFkr gS %

(a) vkxjk (b) fnYyh

(c) ykgkSj (d) d”ehj
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57. The battle of Panipat was held in 1761 AD
between :
(a) Ahmedshah Abdali and the Marathas
(b) Ibrahim Lodhi and Babar
(c) Hemu and Akbar
(d) Ahmedshah Abdali and Nadirshah

58. After the resignation of Subhash Chandra Bose
from the post of President of INC who was
elected the next president :
(a) Abul Kalam Azad
(b) Rajendra Prasad
(c) Pattabhi Sitaramaiah
(d) Ballabhbhai Patel

59. The operation started to arrest the leaders of Quit
India movement by the British rulers was :
(a) Operation Reander Pest
(b) Operation Zero Hour
(c) Operation Thunderbolt
(d) Operation Blue Star

60. In India the state legislature is constituted from :
(a) Legislative Assembly and Legislative

Council
(b) Only Legislative Assembly
(c) Governor Legislat ive Assembly &

Legislative Council
(d) None of these

61. According to Article 170 in the State Legislative
the total members of should not Exceed
Assembly?
(a) 205 (b) 300
(c) 450 (d) 500

57. 1761 bZ- esa ikuhir dk ;q) fduds chp gqvk Fkk\

(a) vgen”kkg vCnkyh rFkk ejkBk

(b) bczkghe yksnh rFkk ckcj

(c) gsew rFkk vdcj

(d) vgen”kkg vCnkyh rFkk ukfnj“kkg

58. v/;{k lqHkk’k pUnz cksl ds bLrhQk nsus ds i”pkr~
bf.M;u us”kuy dkaxszl dk dkSu v/;{k pquk x;k\

(a) vcqy dyke vktkn

(b) jktsUnz izlkn

(c) iêkfHk lhrkjeS;k

(d) cYyHk HkkbZ iVsy

59. Hkkjr NksM+ks vkanksyu ds usrkvksa dks fxj¶rkj djus
gsrq fczfV”k “kkld }kjk pyk;k x;k vkijs”ku Fkk %
(a) vkijs”ku fj;.Mj isLV
(b) vkijs”ku thjks vkoj
(c) vkijs”ku Fk.MjoksYV
(d) vkijs”ku Cyw LVkj

60. Hkkjr esa jkT; fo/kkf;dk curh gS %

(a) fo/kkulHkk vkSj fo/kku ifj’kn

(b) dsoy fo/kku lHkk
(c) xouZj] fo/kkulHkk vkSj fo/kku ifj’kn

(d) buesa ls dksbZ ugha

61. vuqPNsn 170 ds vuqlkj jkT; fo/kkulHkk esa lnL;ksa
dh vf/kdre la[;k fdruh gksuh pkfg, %

(a) 205 (b) 300

(c) 450 (d) 500
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62. In India National Emergency was declared for
the first time in :
(a) 1962 AD (b) 1966 AD
(c) 1978 AD (d) 1987 AD

63. In which year due to internal turmoil, National
emergency was declared in India?
(a) 1962 (b) 1965
(c) 1975 (d) 1978

64. In which article of the Constitution, Parliament
has been conferred the right to amend the
Constitution?
(a) Article 370 (b) Article 368
(c) Article 390 (d) Artice 376

65. Who is responsible for making the five year plans
in India?
(a) Prime Ministers Office
(b) National Development Council
(c) Neeti Commission
(d) Central and State Government

66. India’s contribution in the worlds total
Geographical Area is?
(a) 2.4% (b) 3.5%
(c) 16.4% (d) 19.2%

67. Quinine is obtained from which plant?
(a) Eucalyptus (b) Cinchona
(c) Neem (d) Sikoya

68. India’s highest water fall Jog water fall in
Karnataka is located on the river?
(a) Sharawati river (b) Ganges
(c) Yamuna (d) Narmada

62. Hkkjr esa igyh ckj jk’Vªh; vkikrdky ?kksf’kr fd;k
x;k Fkk %
(a) 1962 bZ- eas (b) 1966 bZ- esas
(c) 1978 bZ- esa (d) 1987 bZ- esa

63. vkUrfjd v”kkfUr ds dkj.k fdl o’kZ jk’Vªh; vkikr
ykxw fd;k x;k\
(a) 1962 (b) 1965
(c) 1975 (d) 1978

64. lafo/kku ds fdl vuqPNsn esa laln dks lafo/kku esa
la”kks/ku djus dk vf/kdkj iznku fd;k x;k
gS %
(a) vuq- 370 (b) vuq- 368
(c) vuq- 390 (d) vuq- 376

65. Hkkjr esa iapo’khZ; ;kstuk cukus dh ftEesnkjh fdldh
gS\
(a) iz/kkuea=h dk;kZy;
(b) jk’Vªh; fodkl ifj’kn
(c) uhfr vk;ksx
(d) dsUnz ,oa jkT; ljdkjsa

66. fo”o ds dqy Hkw&Hkkxh; {ks=Qy esa Hkkjr dh Hkkxhnkjh
fdrus izfr”kr gS\
(a) 2-4% (b) 3-5%
(c) 16-4% (d) 19-2%

67. fdl isM+ ls dquSu izkIr gksrk gS\
(a) ;wdsfyIVl (b) fludksuk isM+
(c) uhe isM+ (d) fldks;k

68. Hkkjr esa lcls Å¡pk tksx tyizikr dukZVd esa fdl
unh ij cuk gS\
(a) “kjkorh unh (b) xaxk

(c) ;equk (d) ueZnk
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69. izfl) oÙnkou xkMZsu fLFkr gS %
(a) fiatkSj esa (b) y[kuÅ esa
(c) eSlwj esa (d) dU;kdqekjh esa

70. okrkoj.k esa dkSu&lh xSl ijkcSaxuh fdj.kksa dk
vo”kks’k.k djrh gS\
(a) ehFksu (b) ukbVªkstu
(c) vkstksu (d) ghfy;e

71. ^^dksBk** buesa ls fdl jkT; dh ewy tutkfr
gS\
(a) vksfM”kk (b) >kj[k.M
(c) vkU/kz izns”k (d) mŸkj izns”k

72. buesa ls dkSu >kj[k.M dk igyk tutkrh; eq[;ea=h
fu;qDr gqvk gS\
(a) j?kqcj nkl (b) fcjaph ukjk;.k
(c) rkyk ejk.Mh (d) ukxsUnz egrks

73. fuEufyf[kr “kCnksa esa ls dkSu&lk 1024 fdyksckbV
dk o.kZu gS\
(a) fdyksckbV (b) esxkckbV
(c) thxkckbV (d) VsjkckbV

74. ‘ITS’ dk iw.kZ :i gS %
(a) Intelligent Teaching Systems
(b) International Tutoring Systems
(c) Intelligent Tutoring Systems
(d) mi;qZDr lHkh

75. ,d leL;k dks gy djus ds fy, bLrseky dne
nj dne izfØ;k dgk tkrk gS %
(a) Operating System
(b) Algorithm
(c) Application program
(d) mi;qZDr lHkh

69. Famous Vrindavan Gardens is located in :
(a) Pinjore (b) At Lucknow
(c) In Mysore (d) In Kanyakumari

70. Which was of Atmosphere absorbs the Ultraviolet
rays?
(a) Methane (b) Nitrogen
(c) Ozone (d) Helium

71. The “Kolha” is a tribe indigenous to which one
of the following states?
(a) Odisha (b) Jharkhand
(c) Andhra Pradesh (d) Uttar Pradesh

72. Who among the following is the new and first
non-tribal Chief Minister of Jharkhand?
(a) Reghubar Das (b) Biranchi Narayan
(c) Tala Marandi (d) Nagendra Mahto

73. Which of the following terms describe
1024 Kilobytes?
(a) Kilobyte (b) Megabyte
(c) Gigabyte (d) Terabyte

74. ‘ITS’ stands for :
(a) Intelligent Teaching Systems
(b) International Tutoring Systems
(c) Intelligent Tutoring Systems
(d) All of the above

75. A step-by-step procedure used to solve a problem
is called :
(a) Operating System
(b) Algorithm
(c) Application program
(d) All of the above
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ENGLISH

Directions (76-78) : Out of four alternatives, choose
one which best expresses the meaning of word which
is given. Mark your answer in your answer sheet.

76. Innate

(a) apathetic (b) distressing
(c) inborn (d) vulnerable

77. Mendacious
(a) perfect (b) true
(c) false (d) correct

78. Slothful

(a) industrious (b) diligent
(c) lazy (d) dutiful

Directions (79-81) : Out of four alternatives choose
one opposite word which is given and mark your an-
swer in your answer sheet.

79. Gloomy
(a) bright (b) sad
(c) good (d) serious

80. Ponder
(a) imbibe (b) consider
(c) unaware (d) aware

81. Furious
(a) angry (b) cheerful
(c) disturb (d) eccentric

Directions (82-85) : Fill in the blanks of the following
sentences out of four alternatives and mark your
answer in your answersheet.

82. The herd of ........... kept eating as the wind blew
past them.
(a) people (b) cows
(c) birds (d) crows

83. The flock of ............. stayed together.
(a) sheep (b) blankets
(c) cows (d) ships

84. I have to go for a check up .......... next week. I
go for the check-up once a year.
(a) about (b) on
(c) at (d) none

85. I’m going to my parents’ house in Maine. What
are you doing .......... Christmas Day?
(a) on (b) in
(c) with (d) at

Directions (86-90) : Read the passage carefully and
answer the question which is given out of four
alternatives.

PASSAGE
Regular physical activity provides numerous health

benefits-from leaner bodies and lower blood pressure
to improved mental health and cognitive functioning.
As the school physical education programme promotes
physical activity and can teach skills, as well as, form
or change behaviour, it holds an important key to
influencing health and well-being across the life span.
To improve the fitness of students, we need to rethink
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the design and delivery of school-based physical
education programme. Adults in the United States think
that information about health was more important for
students to learn than content in language arts,
mathematics, science, history or any other subject.
Despite this high ranking, most schools devote minimal
curriculum time to teaching students how to lead
healthy lives. Our first step might be to consider ways
to increase currriculum time devoted to physical
education. In addition, schools need to thoughtfully
analyse the design and delivery of  school physical
education programme to ensure that they are engaging,
developmentally appropriate, inclusive and
instructionally powerful.
86. According to this passage, regular physical

activity is needed to :
(a) control one’s blood pressure
(b) lose one’s weight
(c) improve one’s cognitive skills
(d) improve one’s physical as well as mental

health
87. In order to tone up the physical education

programme :
(a) It should be made compulsory at school
(b) As assessment of the existing programme

should be made
(c) A committee should be set up in every school
(d) The programme should be reoriented and

implemented

88. According the Americans, health education is
more important than teaching :
(a) social sciences (b) liberal arts
(c) any subject (d) natural sciences

89. The author wants the reoriented physical
education programme to be :
(a) increased minimum curriculum time
(b) very comprehensive
(c) relevant to the modern society
(d) thoughtful

90. In order to improve the physical education
programme, we should first of all :
(a) allot more time to the teaching and learning

of physical activity
(b) decide on the number of activities to be

taught
(c) employ qualified instructors
(d) or decrease the reaching load of instructors

Directions (91-95) : In the following questions
some  parts of the sentence have an error and some
have none. Choose the part one which is
labelled a, b and c. In case of No error, choose part
‘d’.

91. The employee was(a)/ asked to leave her job(b)/
as she was not performing well.(c)/ No error(d)

92. Amit’s severe bout of flu debilitated(a)/ so much
that he was(b)/ too tired to go for work for a
week.(c)/ No error(d)

93. While I’m doing the house works(a)/ I like to
listen(b)/ to music on the radio.(c)/ No error(d)

94. After knowing truth(a)/ they took the right
decision(b)/ in the matter.(c)/ No error(d)

95. The celebrated singer was(a)/ surrounded by the
usual crowd(b)/ of lackeys and hanger-ons.(c)/
No error(d)
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Directions (96-100) : In the following questions some
parts have been jumbled up. You are required to
rearrange which is labelled P, Q, R and S to produce
the correct sequence. Choose the correct sequence and
mark your answer in your answer sheet.
96. Man

P : can not create a species
Q : the one that he has destroyed
R : can be recreate
S : for all his genius
The correct sequence is
(a) PSQR (b) SPRQ
(c) PQRS (d) SPQR

97. The great advantage
P : of early rising
Q : in our day’s work.
R : It gives us
S : is the good starts
The correct sequence is
(a) PSRQ (b) SPQR
(c) SPRQ (d) PSQR

98. Henry Ford
P : was a complex personality in which the
Q : visionary and the eccentric fought for

mastery

R : who built the model T car
S : and pioneered the modern assembly line.
The correct sequence is
(a) PQRS (b) RPSQ
(c) QPSR (d) RSPQ

99. Spirituality
P : for materials and
Q : can also help
R : resources in check
S : in keeping our greed.
The correct sequence is
(a) RSQP (b) QPSR
(c) RPSQ (d) QSPR

100. Even when
P : he would oneday grow into
Q : he showed signs that
R : he was a child
S : an extraordinary person
The correct sequence is
(a) RQPS (b) SPQR
(c) SQPR (d) RPQS


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ANSWER KEY

1. (a) 2. (b) 3. (c) 4. (a) 5. (c) 6. (d) 7. (c) 8. (a) 9. (d) 10. (c)

11. (b) 12. (c) 13. (d) 14. (a) 15. (a) 16. (b) 17. (d) 18. (d) 19. (d) 20. (c)

21. (c) 22. (a) 23. (c) 24. (d) 25. (b) 26. (d) 27. (c) 28. (a) 29. (d) 30. (b)

31. (b) 32. (b) 33. (c) 34. (a) 35. (c) 36. (a) 37. (a) 38. (a) 39. (d) 40. (b)

41. (b) 42. (b) 43. (a) 44. (c) 45. (d) 46. (b) 47. (d) 48. (d) 49. (a) 50. (d)

51. (d) 52. (a) 53. (b) 54. (b) 55. (b) 56. (c) 57. (a) 58. (b) 59. (b) 60. (c)

61. (d) 62. (a) 63. (c) 64. (b) 65. (c) 66. (a) 67. (b) 68. (a) 69. (c) 70. (c)

71. (a) 72. (a) 73. (b) 74. (c) 75. (b) 76. (c) 77. (c) 78. (c) 79. (a) 80. (c)

81. (b) 82. (b) 83. (a) 84. (b) 85. (a) 86. (d) 87. (d) 88. (c) 89. (a) 90. (a)

91. (c) 92. (d) 93. (a) 94. (d) 95. (c) 96. (a) 97. (a) 98. (d) 99. (d) 100. (a)
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